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i A FKAKIEHP 0.5 Mpa
R= 0.28 kN
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Ry= 0.24 kN
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V 2 Iz, R RV R ART) 32 m/sec
- A AR E ﬁ'i*éﬁ%{icpe 1.2
e i — L Cop 0.8
A= H 4% % A AR K47 AR Ag 0.4X0.5 p?
100A-SUS304 — v 3FAp 0.1143X3 p?
ShE¢ 0.1143 m KSR D RAT EPye=0. 61-V2-Cpg- Ag
MN#ZEe’ 0.1023 m Pue=0. 61 +V2+Cpg* Ag
t 6 mm Pwe= 0.15 kN
w 16.2 kg/m A — LD BH EPyw
Pup=0. 61 +V2+Cpp Ap
A —L FHp 3.00 m Pyp= 0.17 kN
AE
LR DAL 0.65 m HAREE WG 0.45 kN
AR &HME2a  0.60 m A= EEW 0.48 kN
AMEiE2b  0.60 m KWy 0.02 kN
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Ho=Ru+Pye*+Pyp
Ho= 0.56 kN
EHPSICHERNTZE— A2 M
Mo=Ry+ (0.5+Hp) +Pyg: (0.25+Hp) +Pyp-Hp/2
Mo= 1.58  kNem
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h+© 2.4:L-ys+ (Kp/Kn)
e, =Y vOEEPETDRSh 0.45 m
h= (Mo'K2+Ho'K3) / (Mo'K1+H0'K2)
Ki= b-Ky-L Ki= 21118 kN/m
K= 2/3+b+Ky-L? Ko= 9151 kN/m
Ks= 1/2+b-Ky-L3+Ky-a*- v, Ks= 5126 kN/m
ui= ne (I+mn-cotp) ? vis 1.14
U= 1/3+1m+ (2=m-cotB) + (1+n-cotp) ? U= 0.74
n=b/a n= 1.00
B=Ky *a%-0-uy Ky *a%- 8- u4= 5.36
=Vo+4-a*b-L-yc Vo+4-asbeL* yc= 5.38
= 86 °
= 1.501 radian
Ki=Kuo (Bw/0.3) %4 Ki= 108297 kN/m3
Ku=1/0. 3+ a *Eop Kwo= 186667 kN/m3
1852 HAENAE 10
Kvo=1/0. 3+ a *Ep Kv= 186667 kN/m3
Kv=Kvo* (Bv/0. 3) ¥4 Kyv= 110993 kN/m3
Bi=+ (2b-L) Bi= 0.62 m
By=+ (2a-2b) By= 0. 60
=y vOE%H 0 rad
0= (MorKi+Ho Kz / (Ki+KsyK2D) 8= 0.00157 radian
TORLERBES Ys 17 kN/m®
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= 2.4-L-vys* (Kp/Kn)
0.0007065 = 0.0008644 <.. 0K
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